Question 1
a.  (6 points)It is very difficult for a country to retain its comparative advantage over time.  As technological advances occur, a country that was specializing in a particular production activity will find itself stuck with obsolete capital equipment.

· No producers are “stuck with obsolete capital equipment”.  If the benefit of acquiring new capital exceeds the costs, it will be done.  However, it may be possible to maintain a comparative advantage while using older capital equipment.  

· Producers have a comparative advantage when their marginal cost is lower than the market price.  It may be difficult to retain a comparative advantage over time.  

b. (6 points)The government could lower our doctor bills if it paid the entire cost of physicians’ education.  Such a policy would make it unnecessary for physicians to recover the cost of their education in their fees.

· The price of doctor services is determined by supply and demand.  Note: the creation of a government deficit does not have any implications for the price of doctors’ services, which is what the question asks!

· Policy has different short run and long run effects:

· Short run:  the cost of education is a sunk cost for all current physicians.  Therefore, the policy change has no impact on supply in the short run.  The price will not change.

· Long run: policy will increase the demand for medical education and lead to an increased supply of doctors (supply curve shifts out or down).  The price will fall as a result.      

c. (6 points)Limited liability of corporations is simply a way for big corporations to avoid paying for damage that their products may cause.

Limited liability (LL) enables firms to increase investment.  LL makes investors (who do not control production decisions) not entirely liable for damage that products cause.   So, the statement is true, except that LL is not simply a way for companies to avoid paying damages. 
d.  (6 points)The most efficient technology for producing a particular product does not depend on the price of the product.

False.  Price determines the quantity produced (since you keep expanding production until MC>P).  The quantity produced determines the optimal production technology.  For example, the most efficient technology for making one car is different than the most efficient technology for making a million cars.   

Question 2

a.

True.
3
The sellers produce positive output as long as P > AC. And to maximize the profit they should produce at the point where P = MC.
3

b. 

True.
3
Specialization without trade means the individual consumes only one good. This is not efficient because of the satiation postulate.
3
c.

True
3
PV = FV / (1+i)n
Interest rate 
the present value of future higher income due to higher education 
demand for college education 
3
d.

True
3
To maximize the profit, a firm should produces at the point where P = MC. Since price taking sellers are facing the same prices, their marginal costs should be the same. However, their average costs may differ because of their relative efficiencies.
3
Question 3

Points distribution : (a) - 6 points, (b) - 6 points, (c) - 6 points, and (d) - 6 points.

= total 24 points. To get full scores on each question, you have to mention a right answer(true or false) and explain your reasoning for the answer. Please, first, go over the answer key.

(a) You have to mention that current stock prices reflects the expert's best predictions as to the value of the stock. And you have to explain why to lose money equals to win money. Please see the answer key. (Just saying "50/50 percentages" or "depending on the market or firm situation" are not good answers)

(b) You must explain how speculator's expectation  can cause more stable future price in future than otherwise. You would not get points if you just repeated the statement on the question without any explanation or reasoning.

(c) You have to explain your answer using the notion of the elasticity. And you have to show why this statement can be true, mentioning the relationship between the specific (elastic or inelastic) potion of demand curve and revenue. And this question is asking about the elasticity on the portion of demand curve, not the elasticity on the different demand curves according to goods. (And P=MC something like that is not needed here. It is a different problem)

(d) Most student got good scores on this part. But some students explained just middle man, not middle manager. Look at the question. You have to explain middle manager here. If you mentioned some key words - monitoring, organizing, complex production, efficiency, and so forth -, you would get high scores in this part.
Question 4

a) 5 pts - The biggest mistake was stating the price would rise to exactly 1.70.  See answers for explanation why it does not.

b) 5 pts – The most common mistake on this question as well as c) and d) is forgetting to mention elasticity. 

c) 5 pts - Many students did not read the question properly.  It states on a per driver basis.  The best answers included that Vancouver’s demand for Washington gas is more elastic than Seattle.

d) 5 pts – The important thing to mention is demand becomes more elastic over time because people have more time to react to changes.  Just as Leffler discussed in class.

e) 4 pts - Most people mentioned the change in elasticity of demand which would cause the price to decrease, but did not mention the effects of the change in supply’s elasticity.

Question 5

a. (i)  6 points in total

      Answer: F : 2 points

Have to explain difference between government deficit and trade deficit: 4 points

(ii)  6 points in total

            Answer: T : 2 points

            Buy investment goods so that the goods produced in the future will be more: 

            4 points

b. (i)  4 points

      Answer: decrease : 2 points

explanation: 2 points

(ii)  4 points

Answer: increase: 2 points

Present value will increase if interest rate decreases, or Present value decreases if interest rate increases: 2 points

Only if your answer based on the interest rate you described is correct, you can get the 2 points. 

(iii)   4 points

             Answer: Windows : 2 points 

             Your explanation has to do with present value of windows or decreased

             demand for steaks: 2 points

